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Mo has 5 sweets.

Ron has 3 more sweets than Mo.

How many sweets do they have 

altogether?

A bar of chocolate costs 4 times as 

much as a lollipop.

The total cost of a bar of chocolate 

and a lollipop is £1

How much does a bar of chocolate 

cost?

1 2

2
0
2
1



A football costs twice as much as 

a teddy bear.

The total cost of one football and 

three teddy bears is £36

How much does a football cost?

Annie has a bag of sweets.

She eats the same amount of sweets 

from the bag each day.

• At the end of the 6th day she has 5
8

of the bag of sweets remaining.
• At the end of the 9th day she has 

63 sweets remaining.

How many sweets were in the bag at 

the start? 

3 4

Tue 2nd Nov 2
0
2
1


